Séquence de Nombres Linéaires (B)

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
9377

Différence commune:

!
9252

| | |
4531 4456 4381

Différence commune:

|
4081

|
3856

| | |
9029 8829

Différence commune:

|
8129

Différence commune:

| |
9149 9049

|
8549

! ! !
7626 7551

Différence commune:

! !
7401 7326

! ! !
5992

Différence commune:

! !
5942 5917

1 1 1
1177

Différence commune:

|
1097

! ! !
3975 3925

Différence commune:

| |
3900 3875

!
3775

1
3750
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Séquence de Nombres Linéaires (B) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
9402 9377 9352

| |
9327 9302

Différence commune:

-25

!
9252

|
9227

|
9202

|
9177

| | |
4531 4456 4381

Différence commune:

| |
4306 4231
-75

|
4081

|
4006

|
3931

|
3856

| | |
9029 8929 8829

Différence commune:

| |
8729 8629

|
8429

-100

|
8329

|
8229

|
8129

| | |
9449 9349 9249

Différence commune:

| |
9149 9049

|
8849

|
8749

|
8649

-100

! ! !
7626 7551 7476

Différence commune:

! !
7401 7326

|
7176

-75

|
7101

!
7026

! !
5942 5917
-25

!
5867

!
5842

!
5817

Différence commune:

| |
1157 1147
-10

|
1127

|
1117

|
1107

! ! !
3975 3950 3925

Différence commune:

| |
3900 3875

|
3825

|
3800

-25

!
3775
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